FXYBx-C- | | | RCX320-2- - - - i
L X-axis Y-axis Controller / | Safety _| . _| . _| s M Absolute
m- —— stroke W stroke | Number of controllable axes Option A (OP.A) Option B (OP.B) Vision System battery
15 to 245¢m| {15 to 55cm

" 5Com Specify various controller setting items. RCX320 » P660
A3

8 RCX222 - - -

| Controller ___[J Usable for CE [l 110 selection1 [ 10 selection2 ]
Specify various controller setting items. RCX222» P670

X-axis Y-axis Y stroke (mm) XY axes
Axis construction "'’ B10 - 150 7
AC servo motor output (W) 100 100 250 6
Repeatability "***(mm) +/-0.04 +/-0.04 850 5
Drive system Timing belt Timing belt ::3 g
Ball screw lead “**°* (Deceleration ratio) (mm) Equivalent to lead 25 Equivalent to lead 25
Maximum speed (mm/sec) 1875 1875
Moving range (mm) 150 to 2450 150 to 550
Robot cable length (m) Standard: 3.5 Option: 5,10

Note 1.Use caution that the flame machining (installation holes, tap holes) differs from single-axis robots’.
Note 2.Positioning repeatability in one direction.
Note 3. Leads not listed in the catalog are also available. Contact us for details.

Controller Operation method

RCX320 Programming / 1/O point trape/ )
RCX222 Remote command / Operation using
RS-232C communication

FXYBx 2 axes (A1

263+/-3 X stroke
166 _89.7] *2.7 o
o
I 12.5 Note 1 12.5
\ VA I
)|
dgs
5L ) E é Cross-sectional drawing F-F
© - 12 70 2-45H7 Depth 4
® b~ 145 @ > 52 4 - M5 x 0.8 Depth 6 65
m == y i — 5 35 |2
Bl == 1 i gl = pom-a 5 =
of U I — e g
S O =7 _ T 1o o 2 8,8 =
,,,,,,,, 1o I J]9§& e gé N
50
75| 152 J G Detail of section A Detail of section B
L (X stroke +410) 152
22 122.5

167
il
8

B
>3 395\17,

.
I

i
MR
‘:#%
140
80 1155 | 79

85 40 100 M x 200 K 100
200 F N-M5 x 0.8 Depth 10 85
= rt -
- N e R = Tt el s
4‘_[_} e g LY I
1) . .
' Cross-section of cable carrier
e E-$10H7 -
85 |57 CH-002 D*-002|"F  See the cross-sectional drawing of F-F.
Note 1.The moving range when returning to origin and the stop position when stopping by the mechanical stopper. Note 3.The dimension marked with an asterisk (*) indicates the height of the screw.

Note 2.The shaded position indicates an user cable extraction port.
X stroke | 150 | 250 | 350 | 450 | 550 | 650 | 750 | 850 | 950 | 1050|1150 | 1250 | 1350 | 1450 | 1550 | 1650 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450
L 560 | 660 | 760 | 860 | 960 | 1060 | 1160 | 1260 | 1360 | 1460 | 1560 | 1660 | 1760 | 1860 | 1960 | 2060|2160 | 2260 | 2360 | 2460 | 2560 | 2660 | 2760 | 2860
240 | 420 | 600 | 600 | 780 | 780 | 960 | 960 | 1140|1140 | 1320|1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320
- - - - - - - - - - - — | 240 | 240 | 420 | 420 | 600 | 780 | 780 | 960 | 960 | 1140 | 1140 | 1320
2 2 2 2 2 2 2 2 2 2 2 2 3 3 3 3 3 3 3 3 3 3 3 3
0 50 0 50 0 50 0 50 0 50 0 50 0 50 0 50 0 50 0 50 0 50 0 50
330 | 330 | 430 | 430 | 530 | 530 | 630 | 630 | 730 | 730 | 830 | 830 | 930 | 930 | 1030|1030 | 1130 | 1130 | 1230|1230 | 1330|1330 | 1430 | 1430
100 | 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100 | 200
1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 9 9 10 10 1" 1" 12 12
N 8 8 10 10 12 12 14 14 16 16 18 18 20 20 22 22 24 24 26 26 28 28 30 30

Y stroke | 150 | 250 | 350 | 450 [ 550 |

2| X|«|O@mO|O

382 RCX320 > 660 | RCX222 > 670 |




FXYBx 2 axes (A2
207+/-3 X stroke
97
*2.7 189.7 ¥
o
125 ||| Note 1 1125
]
— g
ol 2o
70 2-¢p5H7 Depth 4 . Ai<{R=]
52 4 - M5 x 0.8 Depth 6 2 o B+
X Jepi _ 65 - f gJ>— %
100 / 2[[35 a = 2
. T Bess T2 e R
. = 288 2 L JZ'Z’ I
~ = /i /| Sl =
R = 85T o o — g
| = S e Ll T i NPER
Cross-section of cable carrier  Detail of section A Detail of sectionB  Cross-sectional drawing F-F L— =i =7 T ] |59
(50)
152 75] 152 J G
1225 80_[22 Nl L (X stroke + 410)
™|
QL R —E @Ej* 93 3
o N £
> i T <) 4
el An: weeipy veni | TS M g
767 = EEs o]
475 84 5’3” ?4
Note 2/ o3 |54 85 ‘40 100 M x 200
- = El
. o0y e N\ E-010H7
85 57, crote pr-002 [°F See the cross-sectional drawing of F-F.
FXYBx 2 axes (A3
X stroke 263+/-3
2.7 189.7_ 166
o)
o
1125 Note 1 125
|
70 2-05H7 Depth 4 =11 Zi.’[ 100
52|,/ 4-M5x0.8 Depth 6 65 kA
i R e 795 85
2135 =2 )| ‘ ‘
g ] g7 T
) G)g&_\ o N~ < »n L ¥ [ TT Ny e
Mgt = gE: g P e ‘
E£3 T gl ] —) = e
1 3| )
= | I i =Ry
. ) ’ ) ) ) o o o — i = == ! )
Detail of section A Detail of section B Cross-sectional drawing F-F NN i T = Cross-section of cable carrier
NSk i T 1o L ———————
(50) _J
152 e J 152 |75
B 1225 ,QNl
=
g‘ \ ol A — ] 34 53
S8 - - L B Note 2
i e ; L = TS
g 2ot S | B[ QF \
} ofF I = Dl
475] (84| = g = o)
K M x 200 100 40 85
F., N-M5 x 0.8 Depth 10 200 ‘
; , =
g 1 | H
| — E
E-p10H7 /_|
See the cross-sectional drawing of F-F. F |D*-0.02 C++0.02 57/.85
FXYBx 2 axes (A4
X stroke 207+/-3
97
) 89.7| *2.7
N
125 Not 1 M125
] 5 70 2-$5H7 Depth 4
g2 L&‘ 52 )/ 4-M6x08Dep6
8 g 795 e ssll2
gkl @ 2458 ﬂ “‘{
B o1 L ICR-I=0hn &
S TE” 145 - gy
g " s — il 2
o N: W o == e Detail of section A Detail of section B Cross-sectional drawing F-F
SELEE L = afr
N | | re
‘ (50)J
g ! 152 175 22 ;82 122.5,
g ﬁ -
795 A “
] ©| 14| i@ L~ R 3
Sk S 1 .2
= N I ) {2
g 2 e o9 AN
= EM bl Sg 76.7
ﬁa L'53 o3 84 47.5 100
K M x 200 100 40 85 = ole 85
F N-M5 x 0.8 Depth 10 200 !
1 =] Rl
| T T ;
g 1 ; }Eb
Cross-section of cable carrier
E-10H7
See the cross-sectional drawing of F-F. F (D002 C+-0.02 57‘ 85

RCX320 > 660 | RCX222 > 670 |

383



	Arm & cable variations
	2-axis spec selection guide
	3-axis spec selection guide
	Robot ordering method description
	Robot ordering method terminology
	ARM TYPE
	PXYx 2 axes C
	FXYx 2 axes C
	FXYx 2 axes / IO C
	FXYx 3 axes / ZS C
	FXYx 3 axes / ZT6L C
	FXYBx 2 axes C
	FXYBx 2 axes S
	FXYBx 2 axes / IO C
	SXYx 2 axes C
	SXYx 2 axes S
	SXYx 2 axes / IO C
	SXYx 3 axes / ZF C
	SXYx 3 axes / ZF S
	SXYx 3 axes / ZFL20
	SXYx 3 axes / ZFH C
	SXYx 3 axes / ZS C
	SXYx 3 axes / ZS S
	SXYx 4 axes / ZRF C
	SXYx 4 axes / ZRF S
	SXYx 4 axes / ZRFL20 C
	SXYx 4 axes / ZRFH C
	SXYx 4 axes / ZRS C
	SXYx 4 axes / ZRS S
	SXYBx 2 axes C
	SXYBx 3 axes / ZF C
	SXYBx 3 axes / ZFL20 C
	SXYBx 3 axes / ZFH C
	SXYBx 3 axes / ZS C
	SXYBx 4 axes / ZRS C
	NXY 2 axes C
	NXY 3 axes / ZFL C
	NXY 3 axes / ZFH C
	NXY-W 4 axes C
	NXY-W 6 axes / ZFL C
	NXY-W 6 axes / ZFH C
	MXYx 2 axes C
	MXYx 2 axes S
	MXYx 2 axes / IO C
	MXYx 3 axes / ZFL20/10 C
	MXYx 3 axes / ZFH C
	MXYx 4 axes / ZRFL20/10 C
	MXYx 4 axes / ZRFH C
	HXYx 2 axes C
	HXYx 3 axes / ZL C
	HXYx 3 axes / ZH C
	HXYx 4 axes / ZRL C
	HXYx 4 axes / ZRH C
	HXYLx 2 axes C

	GANTRY TYPE
	MXYx 2 axes C
	MXYx 2 axes / IO C
	MXYx 3 axes / ZFL20/10 C
	MXYx 3 axes / ZFH C
	MXYx 4 axes / ZRFL20/10 C
	MXYx 4 axes / ZRFH C
	HXYx 2 axes C
	HXYx 3 axes / ZL C
	HXYx 3 axes / ZH C
	HXYx 4 axes / ZRL C
	HXYx 4 axes / ZRH C
	HXYLx 2 axes C

	MOVING ARM TYPE
	SXYx 2 axes S
	SXYx 3 axes / ZF S
	SXYx 3 axes / ZFL20 S
	SXYx 3 axes / ZFH S
	SXYx 3 axes / ZS S
	MXYx 2 axes C
	MXYx 3 axes / ZFL20/10 C
	MXYx 3 axes / ZFH C
	HXYx 2 axes C
	HXYx 3 axes / ZH C

	POLE TYPE
	SXYx 2 axes S
	MXYx 2 axes C
	MXYx 2 axes S
	MXYx 3 axes / ZPMH C
	HXYx 2 axes C
	HXYx 2 axes S
	HXYx 3 axes / ZPH C
	HXYx 3 axes / ZPH S

	XZ TYPE
	SXYx 2 axes / ZF C
	SXYx 2 axes / ZF S
	SXYx 2 axes / ZFL20 C
	SXYx 2 axes / ZS C
	SXYx 2 axes / ZF C
	SXYBx 2 axes / ZFL20 C
	MXYx 2 axes / ZFL10 C
	MXYx 2 axes / ZFH C
	HXYx 2 axes / ZL C
	HXYx 2 axes / ZH C




